
Inverser les
matrices

A inversible ?

Taille 2

A =

(
a b
c d

)
ad− bc ̸= 0

A inversible

A−1 = 1
ad−bc

(
d −b
−c a

)

A NON inversible

Diagonale

A =

d1 0 0
0 d2 0
0 0 d3

 d1 ̸= 0, d2 ̸= 0, d3 ̸= 0

A inversible

A−1 =

 1
d1

0 0

0 1
d2

0

0 0 1
d3



A NON inversible

Triangulaire

A =

d1 a b
0 d2 c
0 0 d3

 d1 ̸= 0, d2 ̸= 0, d3 ̸= 0

A inversible
calcul par Gauss-Jordan

A NON inversible

Produit
AB = αI

B non nulle
α ̸= 0

A inversible
A−1 = 1

αB

A NON inversible
démo par l’absurde

Polynôme annulateur
A3 + 5A2 − 6A + 12I = 0

A−1 = − 1
12

(
A2 + 5A− 6I

)

Tenter Gauss-Jordan
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